2 XONa yia Tnv evotnTta “Discussion of the Sophism”
Tou dpBpou Tou Lacan

Reasoningof B for Case2: Ais black, B, C are white

B: ‘If | am black,
C would have known that he was white (Instant of the Glance)
and would have left immediately.

Since C is hesitating :
| know now that | am not black'. (Time for Comprehending)

C: avriotoixa KaTtaAfiyel OT €ival AeUKOG

Otav ohokAnpavetarto Time for Comprehending yiatov moiktn B,

o B é&yeraviyvedoer diotayuo otov maikt C.
Etor, 0 B ovunepaiverotio C dev Eekxivyoe auéowg.

Reasoningof A for Case3: A, B, C arewhite

1 If lam black, B (respectively C) will be able to infer that:

B: ‘If I am black,
C would have known that he was white (Instant of the Glance)

and would have left immediately.

Since C is hesitating :
| know now that | am not black'. (Time for Comprehending)

C: avrioToixa KataAiyel OT €ival AeUKOG

2 Since B, C are still hesitant :
| must conclude that | am white. (Moment of Concluding)

[a tov maikt A épyetauto Moment of Concluding, 6tav cvumepaivet

ot kaBévac amd toug maikteg B, C dev aviyvevoe dictayuo orov ouoloyo tov.



Verification of the reasoning

At the second stage of A's deduction, he concludes that he is a white
(supposing that, had he been a black, the others would not have been long

in realizing they were whites and leaving).

He must nevertheless go back over it and think it through again;

| For at the very moment at which he is stirred into action by his conclusion,
he sees the others setting off with him.

Auté oupBaivel emmeidn o B, C kdvouv roug idlouc ouAoyiouous pe Tov A,
orov idio xpovo. Opwg o A dev PTTopEi va gival aiyoupog yi auTo,

a@OoU dev EEPEI AKOUA TO XPWHA TOU.

If A, seeing B and C set off with him, wonders again

whether they have not in fact seen that he is black :

O A okégretal yAimmwg o1 B , C &ekivnoav a@ou oAoKArpwoav
(o1o 1¢Aog Tou Time for Comprehending)

ToV TTapaTTdvw CUANOYIOUO Toug, £xoviag Oel Tov A uaupo.

AnAadr), oKEQTETAI PATTWG N aTTOPAch Tou ATav BIACTIKA: 0 A yvwpiCEl
Om 0 Xpdvog TTou Ba XpelaoTei yia va oAoKANpwOei 0 cuMoyiopds Twy B, C

gival TTETTEPAOUEVOG, aANG dev yvwpiCel akpIBEG Oplo.
It suffices for him to: stop and pose the question again in order to answer it.
For he sees that they too stop:

Since each of them is really in the same situation as he,

each encounters the same doubt at the same moment as he.



Il A now will have every right to conclude again that he is a white.
For he supposes anew that, had he been a black,

B and C would continue; or, after acknowledging their hesitation
set off again before him

Av o A Atav paupog: YTTapxel 1o evdexOuevo Kabévagato toug B, C
va Bewpnoe 6T TO CUPTTEPACHG TOU yia Tov OdOAoYO Tou ATtav BIaoTIKO.
Tote dupwg kKabEvag Toug Ba BeBalwvoray,

Baoiléuevog oto 6T 0 GAAo¢ oTaudTnoe, OT1 0 idIo¢ BeV gival aupog.
MNa aum v amégach Tou KaBévag atd Toug B, C xpnoiyoTrolgi

(Time for Comprehending) emeidf ouMoyietar atmé m 8éon Tou GAAou.

il Because they, seeing that A is in fact a white, do nothing of the kind,
he himself takes the initiative; which is to say that

they all head for the door together

A must once again revert to a state of indecisiveness when he sees the others
moving towards the door in step with him.
Auty T @opd o A oké@TteTal uATTwG o1 B, C &exkivnoav, agou oAokApwaoav
(kaBuoTtepnuéva) Tov ouloyiopo oto Nl péow (Time for Comprehending)

éxovrag &¢1 Tov A uaupo.

This time A can draw but one unequivocal conclusion from the common cessation of

movement: had A been a black, B and C absolutely should not have stopped.

Av o A nrav pauvpog, ol B, C ndn Ba yvwpilav atmd Tov TTponyou uevo GUAAOYIC O
oto I ém gival Aeukoi.



